<>

Since-2018
O maadhyamias @ ® © ® O ©

HITHHA 1AS

‘way to achieve your dream’

oot & 3rggardl R121ep, 319 3TTU® 2TET ci=T=13s A il

UPPCS MAINS TEST SERIES

® Model Answer (in Both Hindi & English Medium)

e Evaluation (On Personal Level)
® Discussion of Every Paper

® Online & Offline

JUNE
2023

Timing : 09:00 AM to 12:00 PM
(Flexible Date & Time)

9911999187

Full-Length Test
TEST PAPER-11

Union states are administered in India.
(a) by the President

(b) by the administrator

(c) by the Home Minister

(d) by the Lieutenant Governor

The Chief Legal Adviser to the Government of India is
(a) Solicitor General of India

(b) Secretary Law Ministry

(c) Chief Justice of the Supreme Court

(d) Attorney General of India

The Indian Constituent Assembly was established
(a) on 10 August 1946

(b) on 09 December 1946

(c) on 26 October 1919

(d) on 26 December 1949

Chairman of the Drafting Committee of the Constituent
Assembly of India

(a) Zakir Hussain was

(b) Jawaharlal Nehru was

(c) BR Ambedkar was

(d) VV Giri

Fundamental Duties were included in the Indian Constitution.
(a) by 44th amendment
(b) by 42nd amendment
(c) by 43rd amendment
(d) by 40th amendment

At least how many times the meeting of the Parliament is
necessary in a year.

(a) once

(b) twice

(c) thrice

(d) six times

Indian constitution has given residuary rights
(a) Given to the federal government

10.

11.

(b) Given to the State Governments.
(c) Neither to the federal nor to the state governments
(d) Has been given to both the federal and the state government

In India, the minister who is not a member of either house of the
parliament has to be relieved of the post of minister.

(a) After six months

(b) After one year and four months

(c) After two years and six months

(d) After three years

Consider the following statements and select the correct answer

from the code given at the end.

Assertion (A) : The Constitution of India provides a federal

system.

Reason (R) : It has created a very powerful center.

Select your answer from the code given below -

(a) Both (A) and (R) are correct and (R) is the correct
explanation of (A).

(b) Both (A) and (R) are correct, but (R) is not the correct
explanation of (A)

(c) (A) is wrong, but (R) is correct.

(d) (A) is correct but (R) is wrong.

Panchayati Raj was implemented in the country on the
recommendation of the Committee 1956, its chairman was

(a) Ashok Mehta

(b) Balwant Rai Mehta

(c) LM Singhvi Committee

(d) P.V.K.Rai Committee

Which of the following has banned defection of elected members
of a party in the Legislative Assembly?

(a) 52nd Amendment Act of the Constitution

(b) 44th amendment of the constitution

(c) 42nd amendment of the constitution

(d) Law of Representation of the People
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Ui SR

S UuR—11

YRd § TY STl T UG g1 & 7. ORdW e 7 safre sifdehrt @t
(a) TEUfa grRI (a) THg TR ot fear @
(b) URMTeR gRT (b) T TRPRI ot feaT g1
(c) TEHA gRT (C) 7 e 7 &) IS TR e e @
(d) Su=TSTUTeT gRT (d) Tl 9T I5T YRR g1l fear @
(a) TR SF=at St gfozan 30 & Ue @ qad g1 ST usdT 8l
(b) Tfg fafd damera (a) ®: A9 915
(€) ITTTH AT o H&d =ranefier (b) U a9 IR AEH dTg
(d) ST SRe Sifeh SfUear (AeTarET) (c) & a9 &: 7gH Te

(d) T et are
T ST ST bl AT b1 T < 9. Fre gt R BER SN ok o # RY M7 ge @ a8 IR T
(a) 10 3FTXT 1946 &t
(b) 09 RrgaR 1946 @t I | . L

&Y (A) : TR & GfAe™ & Tep JEfig Horett a1 urae= g1
(€) 26 3SR 1919 @l
(d) 26 FaR 1949 HROT (R) : 3T Gk Igd ATRIRATEA ek Gl I I B

12 & S e T 31U IWR A1 99 RIS -
NEEPNRETS '~ TRR 3 (a)ﬁ(A)GﬁI(R)HéT%.Gﬁ?(R)(A)EFmﬁW@WUT%I.
o g (b) 2 (A) 1R (R) 1 &, TR (A) 1 et e (R) e 2
(b) STeTeReTTel e 2. (c) (A) T 8, TR (R) Wel 81
(0) oo 3TRo area & (d) (A) B g R (R) TTeTd & |
() e R 10. v SR &1 Sl R 2 & Gaerd) T Y 1956 €AY R T o,

, . . Iqh siemer &

ﬂﬂ?ﬁagﬁmﬂqﬁzﬁaﬁfw’raﬁqﬁrﬁa%mwml (a) arsies Aga (b) SreTdia T AT
(a) 443 Teiler gRT () 7. g, vt 7y () o35 v TR
(b) 429 GeMeA gRT
(c) 43d Faited gr 11. fum g & et g1 & RaiRia geal & gd-vea W Fefafea §
(d) 403 Tanted gRT 3 foro ufdeeerermar

(a) Tfaems a1 528t dmed A
U a9 H oA G & fhat IR TUE hl S&eh gIHT STaaeh gl (b) TR T 4407 TMerT
(a) T R (b) & ER (c) Sfe & 427 Gees
(c) faR (d)®: sR (d) FTaT & iR o1 T (RPA)
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

Right to property is a....
(a) Is a fundamental right
(b) Is a natural right

(c) Is a statutory right

(d) Is a legal right

Article 25 of the Indian Constitution is related to
(a) Right to liberty

(b) Right against exploitation

(c) freedom of religion

(d) protection of minorities

‘Who among the following is not appointed by the President of
India?

(a) Vice President

(b) Chief Election Commissioner

(c) Governor

(d) Prime Minister

Supreme Court Judges can practice after retirement
(a) only in the Supreme Court

(b) only in the High Courts

(c) both aand b

(d) not in any court

In light of the dengue outbreak, which nation has declared a
health emergency?

(a) Brazil

(b) Portugal

(c) Peru

(d) Venezuela

The "International Engineering and Technology Fair 2023" will
be held in which city?

(a) Karnataka

(b) Chennai

(c) Lucknow

(d) New Delhi

Which year was the New Start Treaty put into effect when Russia
recently announced its withdrawal?

(a) 2009

(b) 2011

(c) 2010

(d) 2012

‘What is the current interest rate on 'Mahila Samman Savings
Patra'?

(@) 7.5%

(b) 6.5%

©) 7%

(d) 8%

Think about the following assertions regarding mad cow disease:

1. Bovine spongiform encephalopathy(BSE) is another name
for mad cow disease.

2. A vaccine and medication treatment are effective ways to
avoid it.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

The third stage of "Sagar Parikrama" was launched by which
Union Minister?

(a) Narendra Singh Tomar

(b) Shri Piyush Goyal

(c) Shri Sarbananda Sonowal

(d) Parshottam Rupala

22.

23.

24.

25.

26.

27.

28.

29.

Take into consideration the following assertions in relation to

"Filariasis":

1. It damages the lymphatic system and is a neglected tropical
illness.

2. At present, there is no medication available to stop the
spread of filariasis.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which ministry will establish the India Data Management Office
(IDMO) in accordance with the suggested "National Data
Governance Policy"?

(a) Minister of Law and Justice

(b) Electronics and IT Ministry

(c) Minister of Micro, Small and Medium Enterprises

(d) Minister of Civil Aviation

Consider the following claims in relation to "NASA-ISRO

Synthetic Aperture Radar" (NISAR):

1. NISAR can be used to detect groundwater levels and
monitor glacier flow rates.

2. An Earth observation satellite called NISAR has synthetic
aperture radar in both the L- and S-bands.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

What is the name of the new AI chatbot that UIDAI just
unveiled?

(a) Aadhaar Murti

(b) Aadhaar Sahyogi

(c) Aadhaar Yatri

(d) Aadhar Mitra

Which nation is connected to the new development initiative
known as "The Mukaab"?

(a) Iran

(b) Qatar

(c) Saudi Arabia

(d) Turkey

Which nation has an MoU in place between the governments of
Uttar Pradesh and encourages economic cooperation?

(a) Japan

(b) Singapore

(c) Switzerland

(d) Indonasia

Consider the following assertions in relation to the "MISHTT"

scheme:

1. The funds offered by CAMPA and MGNREGA will be
combined to execute it.

2. Mangrove habitats in salt pan areas and along India's
coastline are to be protected by the project.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

In which nation has the "Commercial Arms Transfer (CAT)
Policy" been implemented?

(a) USA

(b) Germany

(c) France

(d) China
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

g o SIfIaR U
(a) miferen SifdR &
(b) AGfifer arfder &
(c) Tifafden sifder &
(d) g SR 8

WRAT e & Irgede 25 &l T §
(a) =T & SIfYPR I

(b) MUT & oo SR &

(c) o it Wa=ar g

(d) Sreuizegen! Y grem &

e & R ot Agufa foradhy fgfay et e & 2
(a) Su-rgufa

(b) g fRafer smge

(c) IT=sTUTA

(d) TemEET

JaTg g1 & UTd, Fated IrITerd oh T aehreld T Tohd 8
(a) Shae gar=a e J

(b) haeT I=T T |

() adurb AT &

(d) forY oft =amaTera & &t

ST & Ueh!T i 3 gU fohd 38T = TR SMTUTdiehiet Hfed foha 82
(a) sTefte (b) gdmer

() &&= (d) et

"SieRIg Sofifafin ok diefidh A 2023" fh 2Er & smifSa
o SITaEm?
(a) pfeep
(D GECE R

(b) 3=
(d) 7 Ferweft

g w1 TfY fohg g 1] g8 59 =9 A 817 o & U= arut i gryon
&

(a) 2009
(c) 2010

(b) 2011
(d) 2012

* fger T s 9 ' Bl adHT SATST &R T 87
(a) 7.5%

(b) 6.5%

() 7%

(d) 8%

AT I AT & dag & FEfafEd el R R S

1. drare" Wit athardeft (BSE) UNTe T IRT Sl AT 19
=

2. &t 3R ZaT IR 399 F9 & UTE! IUE &

IR U Mg el A @ @ 9/d 9g 8787

(a) e 1

(b) &t 2

(c) 1 3R 2t

(dysat1eiRag2

"G UReRAT" & FIER TRT T JIARY fohg e w3ft 3 foram?
(a) e &g IR

(b) =ft drw I

(c) it gafde Titare

(d) gESH ST

"GRISRAT" & Hey # FEfaf@d dyl ) feR &

23.

24.

25.

26.

27.

28.

29.

1. gg aHihl UUMell @l JhE™ UgErar g R Us HehMeh
Iwrehieaefia far 21

2. gdA B HIEaRAT &t e @ Aeht & AU i a1 Iuctsy g &1

IR U T Al A @ e qu/d T8l 8787

(a) Thaat 1

(b) Thaa 2

(c) 1 3R 2 gt

(dyFat1sRag2

I T HATT TS T8 "R 3T Ta-19 Uiferd” & AR 9Rd 32T

yseE shraferd (IDMO) 6t RITaAT Sam?

(a) S SR =T H3ATed

"NASA-ISRO f&dfeess tueR T8R" (NISAR) & dee # fAmafaf@d graf

R R &

1. NISAR T JUTNT STeT TR T IdT T 3R AR Targ &= i
R & forg fovar ST geRar €1

2. AR A& e gt s/l IUUg | L- SR S- d aFf |
fdfes TR R 1

IR T MU =t F @ i 91/ 98l 8/

(a) dad 1

(b) Thaa 2

(c) 1 3R 2t

(dyaar13iRTE2

UIDAI gRT 81 &t & 3H1eRvT fohy 7Y Ay Al Iedie el 19 ol 87

(a) SR el

2
z
5
E
:
al,
|
1
4

ohT 21 7 IR U I WHRT & =19 Tep gHET AU foharr § oiiR

anfefer gt &t Micarfgd oraT 87

(a) SITaE (b) TR

(c) RAcoRs CIESEIRE

" gierr & dey | REfeiEd syl = R &

1. CAMPA 3R MGNREGA gRT &} ST areft e=RifY @t 38 fAsaifea
& & forg SHer sem

2. @R Ut ardt &3 3R 9RA & Fg I & qy-a1Y {ig sarEt
ot URIISTHT gRT TRfST fohar ST B

IR Ry U Al A @ e qu/d g8l 8/87

(a) haet 1

(b) Shaer 2

(c) 1 3R 2 &t

(dysat1 siRag2

forg 31 7 "ok BfAAR gxaiaror (CAT) Hifa" a8 82
(a) USA

(b) S
(c) wiE
(d) <
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30. How much money has the World Bank pledged as assistance for
Turkey following the earthquake?
(a) 1.50 Billion
(b) 2 Billion
(c) 2.50 Billion
(d) 1.78 Billion
31. Which of the following pairs is not correctly matched?
Vedang Meaning
(a) Education Pronunciation method
(b) Kalpa Rituals
(c) Free Linguistics Language science
(d) Verse Art of War
32. match
List I (Authors) List IT (Words)
A. Banabhatta 1. Ramcharit
B. Vilahan 2. Mouse dynasty
C. Atul 3. Harshacharita
D. Sandhyakara Nandi 4. Vikramankadevacharita
Code:
A B C D
@1 2 3 4
®) 2 3 1 4
© 3 4 2 1
@1 4 3 2
33. From where do we get the evidence of tools made of bones of
animals used by early humans?
(a) Kashmir Valley
(b) Bolan Valley
(c) Terai of Nepal
(d) Upper Gangetic Plain
34. Consider the following statements regarding 'Panch Jan'
1. It was a group of five tribes of Aryans.
2. The five tribes had enmity with each other.
3. The Turvas were a non-Aryan tribe.
Which of the above statement(s) is/are true?
(a) 1 and 2
(b) 1,2 and 3
(c)2and 3
(d) 3 only
35. Consider the following statements regarding Jainism.
1. Those who preached the principles of Jainism were called
Digambaras.
2. Parshvanath was the 23rd Tirthankar of Jainism.
Which of the statements given above is/are false?
(a) 1 only
(b) 1 and 2
(c) 2 only
(d) neither 1 nor 2
36. Consider the following statements regarding the Mahajanapada
king.
1. The king had a standing army.
2. The payment to the army was made in struck coins.
3. The army was restored only in times of war.
Which of the above statement(s) is/are true?
(a) 1and 3
(b) 1 and 2
(c)1,2and 3
(d) 3 only
37. match
LIST (Administration) LIST II (Vocabulary)
A. District 1. Amatya
B. Officers 2. Diet

3. Commander
4 Skandhawar

C. Military camp
D. Feud of third class

(a)

©
CY

38.

39.

40.

41.

42.

43.

0
o
Q.
1)

A B C D
1 2 3 4
2 1 4 3
4 3 2 1
3 4 1 2

At which place did Emperor Harshvardhan organize Buddhist
religious conferences?

(a) Prayag and Vatapi

(b) Thanesar and Prayag

(c) Kannauj and Prayag

(d) Prayag and Varanasi

Which of the following pairs is not correctly matched?

Word Description

(a) Tirumurai Composition of Alvar Nayanar Saints
(b) Kamban Tamil Ramayana

(c) Ponna, Ranna Kannada poetry

(d) Nataraja Gold statue

What were the reasons for the defeat of Indian states in front of

the Turkish invasion?

1. The horses of the Turks were faster and stronger than the
horses imported by the Indians.

2. Lack of mutual unity among Indian kings towards foreign
invaders.

3. Dependence of Indian kings on local chieftains.

4. Indian swords not being superior.

Code:

(a)1,2and 4

(b)1,2and 3

(c) 3and 4

(d) 1,2,3and 4

Consider the following statements regarding Razia Sultan.

1. Razia got it marked on her records and coins that she is the
daughter of Sultan Iltutmish.

2. Minhas-i-Siraj has described Razia as the most able and
capable of her brothers.

3. Razia's behavior was similar to the behavior of Queen
Rudramma Devi of the Hoysala dynasty.

Which of the above statement(s) is/are true?

(a) 1and 2

(b) 1 only

(c) 2and 3

(d)1,2and 3

Which book gives information about the reign of Vijayanagara
Empire?

(a) Mrichchakatikam

(b) Amuktamalyada

(c) Tolkappiyam

(d) Manimekalai

Consider the following statements

1. 'Bijak'is a compilation of the teachings of Saint Dadu.

2. Madhwacharya propounded the philosophy of Pushtimarg.
Which of the above statements is/are true?

(a) 1 only (b) 2 only
(c)land 2 (d) neither 1 nor 2

Who among the following defeated Babur in the battle of 'Sar-e-
Pul?

(a) Abdullah Khan Uzbek

(b) Shaibani Khan

(c) Ubaidullah Khan

(d) Jani Baig
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30.

31.

32.

33.

34.

35.

36.

fasg Ik F o[k & I1C el ot TETIAT & FU H vl eI 37
T feam 82

(a) 1.50 fafem= (b) 2 3RE
(c) 2.50 SR (d) 1.78 SR
frafafEa d @ eF-ar gm gafoa 78 82
e 3
(a) frem IR fafd
(b) Teq HHAIS
(c) FAzea oo fame
(d) &< & hell
gafad Hifsig
T I (eRaeh) gt II(FTA1Y)
A. FTOTHE 1. IERa
B. facgur 2. gf¥ak g
C. 3gd 3. gaRa
D. Tearehe 4l 4. faspaieneaaia
T
A B C D
@ 1 2 3 4
b 2 3 1 4
© 3 4 2 1
4 3 2

3N AT & GRT TR AT S aret uRpedt o gfgdt & s SieTRY &t
MO Shgl O fAerdr 87

(a) TR T1é

(b) St =T

(c) Auret it R

(d) Fu 77 & Aem

'O o' & dey § fRmfafed syl w R fifsig
1. Ig 3Tl & Ul hellell ol g AT

2. i cheltell ehl STad # ST ot

3. A9 Uk ST hefle Tl

ST | ¥ dF-91/ I 94 &/87?

(@) 13R2

(by1,23R3

(c) 233

(d) haet 3

S o & Jeiy § AEfaf@d sy ) TR fifsg)

1. oy & RAgidl &1 Iueer &1 aret feTiaR shgerat &
2. urArY 99 e & 239 diefer 91
Iuged # ¥ HIH-91/3 HUF 3 8/87

(a) Shaet 1

(b) 13k 2

(c) et 2

(dyat1aiRag2

HEISTUE et T & gag # Refefaa sl = far fifsigl
1. o1 & g R} 41 ot

2. T ot T ST fHepl # giar ol

3. TFT ol hadl g o TAT @Il fohdT STTaT ATl
Suerd # ¥ dI-91/8 hYT 9 /87

(@) 13k 3

(by 132

(€) 1,233

(d) Faa 3

37.

38.

39.

40.

41.

42.

43.

44,

Ao hifere
Tt (u=meE) A 11 (2rearae)
A. S 1. T
B. Stfert 2. 38R
C. ffas fAfR 3. S
D. it ioft &t g 4 FHYTER
Fe:

A B C D
@1 2 3 4
2 1 4 3
o4 3 2 1
(

d 3 4 1 2

YT g¥aL 7 g eTfifeh TR hl SMAIST fohd T TR hedrT?

(a) TamT 3R grardt (b) YMTR 3R =TT
() et 3R T (d) TamT 3R aRoTdt
frafafea d @ eF-w gm gafoa 78 82
AT fareror
(a) foegd IAGR TITR Gl el AT
(b) Sher affe T
(c) T, T IS I
(d) e = & gfamr

ohT STThHUT S TTHA HRT IS4l 6l 8R S T HROT A?

1. IRl o OIS VR gRT ST St & 31fdes a7 ofR Forgd 31
2. aRdg roTei | farsft smepHurentRal & ufa simuft gerdn & Y|
3. YRR IS et R TRERI W AR g |

4. IR IAaR] 1 A8 T g

ST gea™ & ey 7 FefafEa syl R R fifleg)

1. Siar A s SfHerat 3R gl WR sifchd seaman ok ag g
SogarmsT & g3t 81

2. Agre-u-foRrst = forr et Igeh wisal # 9 arfde avg ok
& garn gl

3. g9 91 hi I IS St S AIER U ST T HATER FHAT
& ol

S & § -9/ HYH I 8/8?

(a) 132 (b) e 1

(c) 23R 3 (d) 1,233

ISR 9T & AT Sl SFGR! fhd g & et 87
(a) TSHIEHH (b) STFHTS

(c) dleTcreh U (d)# OrERg el
fF=fafEa Foal w far fifsg

1. 'dfisier’ T aTg & IueT I Heheld &l
2. gfeHnt & &= ot Aearard 3 gfqurfed foar

e Yl A & H-91/d I3 8/8?

(a) Shaet 1 (b) Thae 2
(€)13R2 (dyTat13RRag2
= & @ foram SR Al 'WR-u-g' & gg A wifSia foRam?
(a) SIegeeTE @l Iseh (b) Qe @t

(c) IgeaTg @f (d) STt &
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45.

46.

47.

48.

49.

50.

‘What is the correct sequence of the Rajput kingdoms conquered
by Akbar?

(a) Chittor- Ranthambore-Bikaner-Jaisalmer

(b) Ranthambore-Chittor-Bikaner-Jaisalmer

(c) Bikaner-Jaisalmer-Chittor-Ranthambore

(d) none of the above

Consider the following statement:

1. Greater flamingos are the state bird of Gujarat.

2. The IUCN Status of Greater flamingos is Least Concern
Which of the following statements is/are Correct?

(a) 1 only

(b) 2 only

(c) Both 1 &2

(d) Neither 1 nor 2

‘Which of the following statements is/are correct?

1. The Ramsar Convention is legally binding.

2. Loktak Lake is India's only lake listed in the Montreux
Record.

Select the correct code given below:

(a) 1 only

(b) 2 only

(c) Both 1 &2

(d) Neither 1 nor 2

‘Which of the following statements is/are correct?

1. CITES came into force in 1975.

2. Appendix I of CITES contains species that are on the verge
of extinction

Select the correct code given below:

(a) 1 only

(b) 2 only

(c) Both 1 &2

(d) Neither 1 nor 2

Consider the following statement:

1. The Bonn convention entered into force in 1983.

2. World Migratory Bird Day was observed on October 8th this
year.

‘Which of the following statements is/are Correct?

(a) 1 only

(b) 2 only

(c) Both 1 &2

(d) Neither 1 nor 2

Match List-I with List-IT and select the correct answer using the
codes given below the lists:

List-1

List-1I

A. Karikili Bird Sanctuary

1. Madhya Pradesh

B. Pichavaram Mangrove

2. Tamil Nadu

C. Pala Wetland

3. Mizoram

D. Sakhya Sagar Wetland

4. Tamil Nadu

51.

ABC D
@21 3 4
b 12 3 4
© 42 3 1
@13 2 4

Match List-I with List-IT and select the correct answer using the
codes given below the lists:

List-1

List-11

A. Siachen Glacier

1. Nubra Valley

B. Baltoro

2. Karakoram range

C. Bara Shigri Glacier

3. Ladakh

D. Drung Glacier

4. Lahaul Spiti valley

52.

53.

54.

55.

56.

57.

58.

59.

ABC D
@21 3 4
b1 2 4 3
@12 3 4
@13 2 4

Which of the following glaciers is the source of the Dras river?
(a) Milam Glacier

(b) Shafat Glacier

(c) Chhota Shigri Glacier

(d) Machoi Glacier

Which of the following organizations release the State of the
Global Climate Report?

(a) Germanwatch

(b) World Meteorological Organisation

(c) Climate Action Tracker

(d) World Bank

Which of the following is not the left bank tributary of the Ganga?
(a) Gomti

(b) Gandak

(c) Ghagra

(d) Son

Which of the following countries do not border the Caspian Sea?
(a) Russia

(b) Kazakhstan

(c) Iran

(d) Uzbekistan

Which of the following National parks is situated in
Chhattisgarh?

(a) Sultanpur National Park

(b) Kanger Ghati National Park

(c) Kalesar National Park

(d) Keoladeo Ghana National Park

What is the objective of the LOTUS initiative developed by BCG

and UNEP?

(a) To improve and decarbonize the urban mobility landscape.

(b) To promote and support the transition to zero-emission
vehicles globally.

(c) To invest in zero-emission transport.

(d) Accelerate zero-emission passenger vehicles.

How many beaches in India got Blue Flag Certificate?
(@) 11
(b) 12
(o) 10
(d)13

Which of the following pairs of countries started the Mangrove
Alliance for Climate?

(a) Saudi Arabia & Singapore

(b) UAE & Indonesia

(c) Kuwait & Bahrain

(d) Australia & France
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45.

46.

47.

48.

49.

50.

3TheR GRT SfId 7Y AT IIS4T BT TaT ShH -1 82
(a) FAie- ToriviR-fepmR-SaemR

(b) ForeiiR-R<ie- fepMR-SIaeiR

(c) SpR-SIgeR-f<ie- iRk

(d) et & @ aid it

fafafea Fo= R R fifsra:

1. U TRATHTT ORI 1 TrsTehr veft 81

2. Y Fifd 6 IUCN f&f3 LC (Least concerned) &
famfafed & 9 @ 98 sy 98 8/8?

(a) Thaat 1

(b) Taa 2

(c) 1 3k 2t

(dysTat1aiRaE2

T d e o adi &/ 8?2

1. TR A DI FU G STHER g

2. Whceh Sl Aiga A gelag ¥R hl GohAT & 81
=2 o 714 T&l Fe o1 T R

(a) Shaet 1

(b) Thaa 2

(c) 1 3R 2t

(dysat1aiRaE2

f=fafaa 3§ 9 o9 9/ o= 98l /82

1. CITES 1975 ¥ 3ifeaa & S|

2. CITES & oRfre [ & Oft yonfoar nfder € st g &8 &
PRI E |

2 R 71 TEl e 1 T R

(a) Faa 1

(b) haet 2

(€)1 3R 2 gt

(dyat1aiRag2

fAafofes Fu= R R Hifsr:

1. 9 S 1983 # AR g

2. 399 8 37aRER i fay varel ueft feaw wmar mam
fRefafad & @ a9 q/a Hu= 98 8/8?

(a) haet 1

(b) et 2

(c) 1 3R 2 &t

(dysat1eiRag2

T 1 @l g T @ gafea RIS ofik gfRat & 9 Ry 73 ge o
T R Tl IR AT

gHfi-1 -1

A. BfRehed! Teft sy

1. e U0

B. fo=mery e

2. afferrg

C. Ut ey

3. fasie

D. YR TR MR

4. I

(2)
(b)
©
(@

— AN P
W~ W

o www N
NP N N |

51. -1 H EH-I 3 gafed Aoy ok gt & = Ry 10 g o
TN R et IR AT
- 1 SCigh
A R @fter | 1. gemardt
B. SreeRt 2. BRIARA IT
C. IRT f @R | 3. eera
D. ST AR 4. drgter Thfa ardt
ABC D
@21 3 4
b1 2 4 3
@©12 3 4
@13 2 4
52. PEffRdd @ s T eRR g T wraae?
(a) foem fRR (b) 2Thd AR
(c) Bier ATt AR (d) 7B R
53. FfafEd & & i a1 ded Afde Saarg Ruté S R SRt a=ar
&
(a) SH=arT
(b) fagy Hey = e
(C) FATSHE QAR g
(d) g d=
54. f=fafea & 9 aF-df 1 & I R 6 ggries 96 T8 82
(a) et (b) Ties
(c) =TERT (dya=
55. famfaf@d d @ o a1 2 S arr & dar 98t s-mar 82
(a) =9 (b) PoTRgEI
(O RAE (d) Ssaifchear
56. FFfIEd & € & 91 AP SEH S<iiTe | [&d 8?
(a) GedAFgR TETT Jer
(b) TR =TE TET IT
(c) TR TER ST
(d) Factea g IER IEH
57. BCG 3R UNEP gRT fderf@d LOTUS Uget ol Se9 T 87
(a) g nfaefietar uRgea & UR SR Srepre-Icheor AT
(b) fa%y TR WR YI-IS aTgT & AT Tl Fgrar 3 3R TadA
& & gl
(€) YA-Isi gRag & faer e & ferg)
(d) I-ISi Ai argt | deft Arg|
58. Rd 7 foha~ Tz dcl I s o1 Uicfthahe AT 87
(a) 11 (b) 12
()10 (d)13
59. ffafEa 7 @ fha < & SI3 A ey & Ay Aula ganiy gF
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60.

61.

62.

63.

64.

65.

66.

67.

68.

Which of the following ministries launched the Bharat tap
initiative?

(a) Ministry of Housing & Urban Affairs

(b) Ministry of Panchayat Raj

(c) Ministry of Environment Forest & Climate Change

(d) Ministry of Agriculture

Which of the following pairs is not correctly matched ?

Quantities S.I unit
(a) Amount of Substance Mole
(b) Temperature Watt
(c) Electric Current Ampere
(d) Luminous intensity Candela

Which measuring instrument is an indicating instrument?
(a) Ammeter

(b) Energy meter

(c) Temperature recording instrument

(d) Read type frequency meter

Match List-1 with List-2 and select the correct answer from the
code given below
Instrument

(A) Pyroscope

Uses
1. For measuring the intensity of
radiating heat.

(B) Pyrometer 2. For measuring relatively high
temperatures
(C)Bolometer 3. Measures heat radiations
(D) Lactometer 4. Measuring the purity of milk
Code:
A B C D
(@) 1 2 3 4
b) 3 4 1 2
(c) 2 1 3 4
d) 2 1 3 4

‘Which of the following pairs is not correctly matched ?

Discovery Scientist
(a) Photography (On metal) J.Neepse

(b) Photography (On paper) ‘W.Fox Talbot
(c) Proton Rutherford

(d) X-Rays Roentgen

Which of the following is TRUE about electric current and
velocity?

(a) Electric current is a vector quantity and velocity is a scalar
quantity.

(b) Electric current is a scalar quantity and velocity is a vector
quantity.

(c) Both electric current and velocity are vector quantities.

(d) Both electric current and velocity are scalar quantities.

Rainbow is a natural phenomenon based on:
(a) Diffraction

(b) Reflection

(c) Scattering

(d) None of the above

Consider the following:

1. Blood is more viscous than water.

2. Blood is more viscous than honey.

Which of the statements given above is/are correct?
(a) 1 only

(b) 2 only

(c) Both 1 and 2 only

(d) Neither 1 nor 2

Arrange the following in their chronological order :
1. Bank Nationalization
2. Beginning of Green Revolution

69.

70.

71.

72.

73.

74.

3. First devaluation of Indian currency after independence took
place.

4. India became a member of the International Monetary Fund
(IMF).

Select the correct answer with the codes given below :

(@4,3,2,1

() 4,3,1,2

(c)3,2,3,4

(d)2,4,31

Match List-I with List-IT and select the correct answer using the
code given below :

List -1 List - IT

(Five Year Plan) (Applied Growth Model)
A. First 1. S. Chakravarty Model
B. Third 2. D. P. Dhar Mod
C. Fourth 3. Ashok Rudra Model
D. Fifth 4. Mahalanobis Model
Code :

A B C D
@) 1 2 3 4
(b) 3 4 1 2
(c) 4 1 2 3
d) 4 1 3 2

Consider the following statements :

1. The NPCI was incorporated in December 2008

2. National Payments Corporation of India (NPCI) helps in
promoting financial inclusion in the country.

3. NPCI has launched RuPay, a card payment scheme.

Which of the statements given above is/are incorrect?

(a) 1 only

(b) 2 only

(c)1 and 3 only

(d) None of the above

Who amongst the following loss most from inflation:

1. Debtors 2. Farmers

3. Consumers 4. Government pensioners
Select the correct answer with the codes given below :

(a) lonly

(b) 2 and 3 only

(c) 3 and 4 only

(d)1,2,3and 4

Consider the following :

1. Exim bank

2. Lead Bank

3. NABARD

4. SIDBI

The correct chronological sequence of establishment of these
banks are :

@ 1, 2, 3, 4
® 2 3, 1 4
© 2 1, 3 4
@4, 3 1, 2

Which of the following committees has
recommendations on ‘financial inclusion’?

(a) Nachiket Mor Committee

(b) Y.H. Malegam Committee

(c) Rangarajan Committee

(d) Kelkar Committee

given its

Which one of the following statements is not correct?

(a) RBI is the Central Bank of the country.

(b) RBI is the custodian of the country’s Foreign Exchange
Reserve.

(c) RBI was established in 1949.

(d) RBI is the banker of the Central and the State Governments.
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60.

61.

62.

63.

64.

65.

66.

67.

68.

ffafed 7 @ forg d@3mera 3 9TRA 94 uga &= hi?

(a) 3MTeT 3R A AT & HATTT
(b) U=ITad ST HATT
(c) TaferoT & 3R STeraryg aRkadH #ared
(d) P =TT
ffofad 7 @ ol w1 gm a8t gafea 78 8 ?
i1 SI gehTd
(a) Teref &Y AT i
(b) aroHT qre
(c) faea ey TR
(d) Safq fterar &
I 9T AU T Ueh Tchdh SUhRUT &7
(a) smfiex
(b) Foif ez
(c) argaT RepifEm Iuenor
(d) smgf ez
et -1 A -2 @ gAfaa RS ok i Ry 7 e & w8t s
Rl

ax L U
(a) UTsRI=RIq 1. faferzor 7 & Ferar o= & forw |
(b) uTsHteR 2. 3THefTehd e JTUHTE J194 & forg
(c) Feiex 3. faferzor &Y ot ATUar @
(d) iR 4., T Y YGdT ATGAT
&S
Code:

A B C D
(@) 1 2 3 4
) 3 4 1 2
(c) 2 1 3 4
d) 2 1 3 4
frafafea 7 @ s-argm gafaa T8 8 2
gtst At
(a) TRICHITHT (8T WR) AR
(b) BRI (GRS WR) &g Thiay eodie
(c) Ter A TGS
(d) v Ages

ffofad # @ o a1 fagd uarg sk a1 & aR & Tt 82
(a) fogga a1 Uas Gfeer Afy & ofk a7 gak sifer AfA B
(b) fIgIa a1 Uak Sifeer fA g iR 377 ga Tl AfA B
(c) forega amr SR 31 <Y e wifvar &)

(d) farea T iR v & & srfger it &1

54V Ueh UTehideh BT TR STUTRA 8
(a) foad (b) ufafea
(c) wehofT (d) 3 & IS oft 7

fAmfafed R far fifST:

1. ord UM @ SUTET 9T 8idT 8

2. 3 U8 9 3fdeh I glar &

IR U Mg el # @ @ 9v/d 98 8787

(a) Faa 1 (b) haet 2

(c) et 1 3R 2 gt (dyTat13Rad2

ffofad @t 37k rerrgena # aafed &
1. deh AERIROT

2. gRa wifa &t greema

3. T o STE R HeT ehl TIH SFHedH |

69.

70.

71.

72.

73.

74.

4, IRA SRR 7a1 S (IMF) T T 7
12 g 7T el & Ty TE IR T T e
(@4,3,21

(b)4,3,1,2

(€©) 3,234

(d)2,4,3,1

-1 o Eh-11 & AT BT oiR A8t R T e ot it ek

IR :

gt -1 gt -1
(CECLiCEINED) ( TtATES Tl Hisd)
A. Tge! 1. QY gehadt Aise
B. da=r 2. 3} eR Afsa

C. e 3. 3Mek 3¢ AlsA
D. gieat 4. HgTieg Aisd
&I

A

(@) 1
®) 3
(c) 4
(d) 4

H’—‘%Nw
(,Jl\)»—nu)n
NWN%U

fA=flfes Fe R R Hifsg

1. NPCI @l fe&isr 2008 & snfaet favar mar o

2. RA™ AER IaE A (NPCI) 3 & fasfta gwmasE &t
JoraT 31 & Heg hear g

3. NPCI 3 &1 1T AlSi1 39 ht Yo HI & |

IWR Ry 17 Yl # 9 Shie 91/9 TTerd 8/8?

(a) Shaet 1 (b) Faet 2

(c) Saret 1 3R 3 (d) ST # & I ek
frafafea 7 @ iR geehifa @ Taifde a1f gkt &:

1. &mar 2. fram

3. Iutear 4. GRep1<} geraift

12 g 717 Rt & Ty TE IR T T

(a) Sheet 1

(b) 2 3k 3 thaet

(c) daaT 3 3R 4

(d)1,2,33k4

e R AR HifSg:

1. U™ & (EXIM) 2. ot § (3nroft §@)

3. AmeTE (NABARD) 4. fdssh (SIDBI)
S Sl I RITYAT T TG ShIATshA 39 TR &
@1,23,4

(b)2,3,14

(c)2,1,3,4

(d)4,3,1,2

fF=fofea 3 @ g afdfa 3 oo gemsm wR s iR & &2
(a) FRdha Ok HAA

(b) YH #Tete Tfafa

(c) TR Tfafa

(d) et Tfafa

frafifaa & @ o a1 & a8 87
(a) RBI 221 T el dah 81

(b) RBI &2r o fadsft et +feR o1 TRers &1
(c) RBI &I ®ToHT 1949 # &3 ot

(d) RBI &g 3R I0 TR I S 5
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75.

76.

77.

78.

79.

80.

Consider the following events and arrange them in chronological
order :

1. Establishment of NABARD

2. Self Help Group Bank Linkage Programme

3. Kisan Credit Card Plan

4. Establishment of Regional Rural Bank

Select the correct answer from the codes given below:

@2 4 1 3
®4, 1, 2, 3
©4, 3, 2, 4
@1, 2, 3, 4

Given below are the two statements, one is labeled as Assertion

(A) and other as Reason (R).

Assertion(A): DNA fingerprinting can be used to determine

paternity/maternity in individuals.

Reason(R): The probability of two unrelated individuals having

the same DNA profile is very low.

Select the correct answer using the codes given below:

Code :

(a) Both (A) and (R) are true, and (R) is the correct explanation
of (A).

(b) Both (A) and (R) are true, but (R) is not the correct
explanation of (A).

(c) (A) is true, but (R) is false.

(d) (A) is false, but (R) is true.

Match the list I from the list IT and choose the correct option from
the code given below the lists

List I (pathogen)

A. Plasmodium

B. Salmonella

C. Streptococcus

D. Mycobacterium
List IT (disease)

1. Malaria

2. Typhoid fever

3. Streptococcal pharyngitis
4. Tuberculosis
Code:

(a) A-3,B-1,C4,D-2
(b) A-2, B-3, C4, D-1
(c) A-1,B-3,C-2,D4
(d) A-1,B-2,C-3,D-4

‘Which of the following pairs is incorrectly matched?
(a) Vitamin B1 - Beriberi

(b) Vitamin B3 - Pellagra

(c) Vitamin B6 - Scurvy

(d) Vitamin B12 - Pernicious anemia

‘Which of the following statements is/are true regarding CT scan

and MRI?

1. CT scan uses radio waves while MRI scans use X-rays for
imaging.

2. MRI is more effective than CT scan in detecting soft tissue
injuries.

Select the correct answer using the codes given blow:

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following plant hormones is responsible for the
process of apical dominance?

(a) Auxin

(b) Cytokinin

(c) Gibberellin

(d) Abscisic acid

81.

82.

83.

84.

85.

86.

87.

88.

Which of the following pairs is incorrectly matched ?
(a) Red rot - Sugarcane

(b) Late blight - Potato

(c) Karnal bunt - Wheat

(d) Citrus canker - Tomato

Which of the following hormones is responsible for the regulation
of calcium levels in the human body?

(a) Thyroxine

(b) Parathyroid hormone

(c) Insulin

(d) Adrenocorticotropic hormone

Which of the following statements about vaccines is/are correct?

1. Vaccines work by stimulating the body's immune system to
produce antibodies to fight against specific diseases.

2. Vaccines are only effective in preventing the spread of viral
infections, not bacterial infections.

Select the correct answer using the codes given below:

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

Which of the following statements about heart attack is incorrect?

(a) A heart attack occurs when the blood flow to a part of the
heart is blocked.

(b) High levels of LDL (low-density lipoprotein) cholesterol
increase the risk of heart attack.

(c) A heart attack is always preceded by warning signs or
symptoms.

(d) Aspirin can help reduce the risk of heart attack by preventing
blood clot formation.

Which of the following compounds of hydrogen is a colorless,
odorless gas that is used as a coolant in nuclear reactors?

(a) Hydrogen chloride (HCI)

(b) Hydrogen sulfide (H2S)

(c) Deuterium oxide (D20)

(d) Hydrogen peroxide (H202)

Which of the following statements are correctly matched?

1. Polyester is a synthetic fiber made from petroleum-based
products.

2. Rayon is a semi-synthetic fiber made from cellulose.

Select the correct answer using the codes given below:

(@) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

Which of the following metals has the lowest melting point and is
commonly used in low-temperature applications such as
soldering and as a coolant in nuclear reactors?

(a) Tungsten (W) (b) Mercury (Hg)

(c) Lead (Pb) (d) Gallium (Ga)

Match the list I from the list IT and choose the correct option from
the code given below the lists
List I ( Chemical compounds )
A. Hydrogen peroxide

B. Sodium hydroxide

C. Acetaminophen

D. Calcium chloride

List IT (Uses)

1. Pain reliever

2. Antifreeze

3. Disinfectant

4. Drain cleaner

Code:

(a) A-2,B-4,C-1,D-3

(b) A-3,B-4,C-1,D-2

(c) A-1,B4,C-3,D-2

(d) A-3,B-1,C-2,D4
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75.

76.

77.

78.

79.

80.

frafafEa gesl iR AR &R ik 32 wregmis wr § afdd
&

1. TS it wITUT

2. T GEIIdT W S fefchol srdishA
3. foram thfze 1S ater

4. gitg yrior §a Y wTET

2 oy 7T e T et IR A TIH A
@2413

b)4,1,2,3

(c)4,3,2,4

1,234

12 3t s Ry Y &, Ton ot 1fHeRY (A) 3R gER @t &RT (R) &
U d o9 fhar ma g

FUF (A) : AfdEl § figa / 9qa RuiRa & & g Sigag
foRfSifET o1 SumiT fohar ST gaar 81

&RUT(R) : & 3T eafaral & U g STTU TithTse g4 &bl Garar
Igd &4 8|

12 g 71 e o1 T R TEl IR gF:

s

(a) EHT (A) 3R (R) T4 &, 3R (R) (A) i 98! aaren g1

(b) (A) 3R (R) 2T gt 8, Ak (R) (A) &t Gt et el g

(©) (A) T g, Af (R) 3/<T &1

(d) (A) 3/ T<T &, AR (R) I &1

Tt I ot gt 11 & gaferd RSy sik gt & i iy o ge 3 a8t
fereg gfg

Tt 1 (Frtien)

A. wIeRISaH

B. STeAMdT

C. ¥udiaad

D. HTEehidaiRad
TR 11 (3rm)

1. AafRar

2. TSHISS R

3. Wiehlehet TN
4, =T (qufeen)

®ls:

(a) A-3,B-1, C-4, D-2
(b) A-2, B-3, C-4, D-1
(c) A-1,B-3,C-2, D4
(d) A-1, B2, C-3, D4

ffafad 7 @ e a1 g 1ea gafed 87
(a) T &1 - 9

(b) frerfd= &t 3 - domn

(c) forarfa= &t 6 - wndt

(d) faaf@s &t 12 - a1des Te=regarn

e 1 3R MRI & deg & Fefoifea S s T R wet & / 82

1. S @ W qGT AT ITINT HAT § SEich MRI WhA
AT & fol Y- a1 SUATT e 81

2. A Fac A & gar @ H HE & R g # MRI
31feres e B

T Tq e 1 g R TE IR AT
(a) Fae 1 (b) Fae 2
(c) 18R 2 &= (d)yTat1siRag2

M goga i ufthar & fog F=fafea § @ aF-a1 ureu gmi
IRert 87
(a) siffeg
(c) PRfe=

(b) Tr=elfhia
(d) gstfles gRie

81.

82.

83.

84.

85.

86.

87.

88.

= 7 @ -1 g T gAferd & ?
(a) ¥ M - =T (b) A A - 3T,
(c) FATT s - g (d) TT8eY S - THTER

fFrafafaa 7 @ o9 a1 g a9g Rk § SR & = & Raea

& fog Smer 87
(a) UTRIfR= (b) TRraTERITs g™
() ggfem (d) TgHteiiEanigiie giatT

&l & IR A f=fafed § 9 & 9/ &y= 98l 8787

1. fafre I & @1 & forg YT a1 Saured A & farg ek aRR
Y TfcRE TuTTelt eht ST eheeh H hid 8|

2. &% had IR GehAUT & UER &l A J Tt g, Sftarg]
BEZEES]

12 &g 7T e o1 T R Tl IR gRT:
(a) et 1 (b) Fae 2
(c) 1 3R 2 @t (dyTat13Rag2

A& R & IR 7 F=flofea & @ oF 91 ouF Ted 87

(a) et &1 €R1 a9 BT & 519 g0 & Uah [ & I ol UATE 39
I STt 81

(b) LDL (o8 ¥cd aret feidiide) shieiglel & S=7 @R € et &t
ZRT TS T WRT F ST &

(c) o< AT SRT EARA =AdTa= Thall AT AUN ¥ Uga glaT &

(d) TR o & Uereh S A Ve et & &R & ST &Y e
e B Heg o Gohdl 8

grggior & FEfafad & § & a1 dife ge dee, Tude i @
fSrerent IuAT oRATY] Rueest # efidee & wu 7 fhar Siram 87

(a) BTEgIoH FARIES (HCL)

(b) BTESIS Gthiss (H2S)

(c) =R ifewss (D20)

(d) gTEgIoF WRieTss (H202)

fafafea 7 @ o & s 9t gafea 82
1. Tifelu=ex Ueiferas STeTRd IdTel 9 a7 Uah [dfee higer gl
2. T YA T 51 b aref-Rdfean wrgear 21

12 g 717 e o1 v R e IR R
(a) e 1 (b) 3ae 2
(c) 18R 2t (d)Tat1siRag2

Feffed & 9 fohg g o1 Toich Te A 81T & 3R AR R
¥ ATIHT AT ST oY el T 3R gATy] Ruerest A ftaeren
< & H IANT fopar ST 82

(a) &meT (b) 9T (Hg)

(c) =T (Pb) (d) ?feraw (Ga)

T [ At g 11 & gRfoa RSy ok giRat & 2 g 7g ge @ agt
ey gy

g I rEmafae difis)
A. BIEgNH W8S
B. Gif3aH grggiaarss
C. U@t

D. HfRAH w=IR5S

g 11 (Iuahm)

1. & fRares

2. fiaef

3. GepquRief

4. 7ch & gwrE

&is:

(a) A-2, B4, C-1,D-3
(b) A-3, B4, C-1,D-2
(c) A-1, B-4, C-3, D-2
(d) A-3, B-1, C-2, D-4
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89.

90.

91.

92.

93.

9.

95.

96.

Which of the following subatomic particles has the smallest mass?
(a) Proton

(b) Neutron

(c) Electron

(d) Photon

Which of the following organic acids is commonly used as a food
preservative due to its ability to inhibit the growth of bacteria and
fungi?

(a) Ascorbic acid

(b) Benzoic acid

(¢) Succinic acid

(d) Glutamic acid

Consider the following statements.

1. By the beginning of the 18th century, British and French
companies dominated the trade between Europe and India.

2. Due to business rivalry and maximum profit, there were also
quarrels between the companies.

‘Which of the above statement(s) is/are true?

(a) 1 only (b) 2 only
(c)land2 (d) neither 1 nor 2
match
List . (Facts) List IT (Relevant Year)
A. End of Diarchy in Bengal | 1. 1773 AD
B. Warren Hastings became 2. 1772 AD.
the Governor General of the
British territories.
C. Treaty of Salbai 3.1775 AD
D. Beginning of the first | 4. 1782 AD
Anglo Maratha war

Code:

A B C D
(@ 1 2 3 4
(b) 2 1 4 3
(© 3 2 4 1
@ 4 1 2 3

Was the responsibility of collecting revenue in the Mahalwari
system?

(a) Zamindar

(c) Head of the village

(b) Farmer
(d) company

‘Which of the following pairs is correctly matched?

Tribal Rebellion Location
(a) Bhil Madhya Pradesh
(b) Kol Himachal Pradesh
(c) Santhal Maharashtra
(d) Mead Assam

‘Which of the following statements is true?

1. In 1850 AD, Vishnu Shastri Pandit had established 'Widow
Marriage Society'.

2. In 1852, Karsondas Malji brought out a magazine named
'Satya Prakash' in Gujarati language in support of widow
remarriage.

Code:

(a) 1 only

(b) 2 only

(c)land2

(d) none of these

match

List I (Key Revolutionaries
of Revolt of 1857)

A. Bakt Khan

B. Maulvi Ahmadullah

C. Kunwar Singh

D. Nana Saheb

List Il(related site)

1. Awadh
2. Kanpur
3. Aara
4. Delhi

97.

98.

99.

100.

101.

102.

Code:

A B C D
@ 1 2 3 4
®) 2 4 1 3
© 4 1 3 2
@ 4 1 2 3

The main reasons for the growth of the Indian National
Movement was not involved in

(a) Economic development

(b) Press and literature

(c) Discovery of India's past

(d) Ethnic arrogance of the rulers

Who among the following presided over the session of the Indian
National Congress?

1. AO Hume

2. Badruddin Tyab

3. Rameshchandra Dutt
4. Vijayalakshmi Pandit
5. Gopalkrishna Gokhale
Code:

(a)1,2and 5

(b) 2,3 and 4

(c)2,3and 5

(d)3,4and 5

What changes took place as a result of the Swadeshi movement?

(a) Many textile mills, soap and match factories, handloom
enterprises and national banks and insurance companies
came up.

(b) Nationalist poetry, prose and journalism flourished.

(c) On August 15, 1906, a National Council of Education was
established.

(d) all of the above

Who among the following was not associated with the formation
of the Khilafat Committee?
1. Muhammad Ali Jinnah
2. Hakim Ajmal Khan

3. Hasrat Mohani

4. Badruddin Tyab

Code:

(a) 1 and 2

(b) 2and 3

(c) 3and 4

(d)1land 4

Consider the following statements regarding Swarajists

1. Out of 105 seats to be filled in the Central Section Assembly
elections in November, 1923, the Swarajists got 48 seats.

2. In March 1925, the Swarajists succeeded in making
Vithalbhai Patel, a prominent nationalist leader, the
president (speaker) of the Kendriya Dhara Sabha.

Which of the statements given above is/are false?

(a) 1 only

(b) 2 only

(c)land 2

(d) neither 1 nor 2

Match

ListI

A. Civil Disobedience Movement
B. First Round Table Conference
C. Nehru Report

D. Gandhi Irwin Pact

List IT
1. November, 1930
2. March, 1930
3. March, 1931
4. August, 1928

Code:

A B C D
@1 2 3 4
® 2 1 4 3
©3 4 1 2
@4 1 3 2
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89.

920.

91.

92.

93.

94.

95.

96.

fAafafaa d @ g IumRaTfvaes ST o1 gemT 9e9 &»H 8T 87
(a) Wt (b) =gt
(OESEHE (d) ®eH

SR 3R Thaeh & fprg &t A &Y 8T & wRYT REfafaa &
G hI T hIef-Ieh 3T IR UR WTel URR&Te & &9 & Iua fohar

SIGIES

(a) UEapifeieh 37 (OESIEERYEES

(c) T gfds (d) e TRre

A= syl R foaR fifSw)

1. 18 T & SR doh S48 Td ThiY chl U4l T IAT T YR &
A TR WR U ST gt T

2. Rer Ufdgfgar aur sifdenfder Ay & wror SufRal & 7
s i gul

ST # § HIH-91/F HYF 9 8/8?

(a) Shaet 1 (b) Fa<t 2

(c) 18R 2 (dyFat1skag2

gaferd dhiferg

gt | (a2) g 11 (Seifda ad)

A. ST B 2 T T 3id 1.1773%.

B. arA gferw fafesr el &1 mawR SeRet 41 2.17725%.

C. refas & fe 3.1775%.

D. U2 3HiTeT FRIST g5 ol STRH 4.1782%.

Fe:
A B C D

@ 1 2 3 4

b 2 1 4 3

© 3 2 4 1

d 4 1 2 3

HETTaTS! ST H ST Tehf3d het bl foimer! gidt ofi?

(a) SHiER (b) fremT
(c) Tiq et i (d) Sut
= & @ wF-u1 g 98! gafed &2

sifeard fagte =
(a) ofie i fera|
(WEIS e v
(GERIC HERTE
(d)#s 3raH
g aH-aT Ry g &2

1. 1850 . # fawy emelt dfeq 3 'faean faarg @t 6w S
oft|

2. R Aersit 4 1852 # oRTdt wreT # fAear faarg & a9
H I UhIRT ATk Ut et |

Fe:

(a) Thae 1

(b) Sharet 2

(c) 132

(d) 38 ¥ IS &l

ghferd iferg

Tt 1 (1857 & Rl F wa whifaeerl) Tl 1 (Heifda @)
A. I&d @t 1. 3@y
B. Hieidt srgHgeeg 2. FAR
C. der R 3. 3R
D. T 918d 4, feft

97.

98.

99.

100.

101.

102.

Fe:

A B C D
@ 1 2 3 4
) 2 4 1 3
© 4 1 3 2
d 4 1 2 3

VRN AL Sfiater & e & T SwRoml | MmiAe gt o
(a) 3nfefer g (b) o9 g Tifg
(c) WRA & ardta i @i (d) RMTTeRT T ST &9

e F 3 forgm wRdlg Tt i & ifdderm 6 sremerar e
1. g3t g

2. eI dud Sft

3. WREg &d

4, fasrgaed) dfga

T2t Sricter & aRUIHERRY &R uRkad gg?

(a)sreh Ut A, T SR AT & wREH, 8aH & IeH Ul
T den 3R fier chufaat weff|

(b) IFATE! 1A, el SR GRIRAT Al e g3

(€) 15 SAT, 1906 ot Teh AL fA&M uRug FHr =T Hi 18|

(d) Suge geft

= & @ B RAThd BHE & e @ Gefad T8t ar?
1. HgwE 3l fS=m

2. g IeTHd @i

3. §O9=d HigHt

4. SEIEH Ia9 St

(b) 2 3R 3
(d) 1 3R 4

TRISENRT! & 999 3 A el R iR hifsig

1. TEER, 1923 # Hald 9RT 4T & gA1G ¥ 9 S areft 105 el
7 G 48 T wrierareal st et

2. A, 1925 # WRISEdl 3 Yo WiRa Agars) AdT g udd
! She R TRT YT T 3rehel (Tiehs) S & YtheldT UT chl |

Suged # ¥ HIF-A1/8 YT 39 8/87?

(a) dhaet 1 (b) dhae 2
(c)13fR2 (dyTat13RRag2
gaferd hiferg

el el

A. IfaTar 3rasT srigte 1. 79sR, 1930

B. T Tiedst 98 2.1, 1930

C. J5= Ruté 3.9, 1931

D. wieft s=fa= gmgian 4. 3T, 1928

Fe:

LML JMARDHYAM 108

CALL: 0522-4623578
9911999187

www.maadhyamias.in
Lucknow Center - B-1/18, Sector-H, Puraniya Chauraha,
Near Mahalaxmi Sweets, Aliganj, Lucknow-06024 (U.P.)

Full-Length Test |14



103.

104.

105.

106.

107.

108.

109.

110.

111.

112.

When was the Hindustan Socialist Republican Association
(HSRA) established?

(a) Year 1919

(b) Year 1927

(c) Year 1916

(d) Year 1928

When did the Muslim League pass the resolution of a separate
Pakistan?

(a) February 1922

(b) December 1928

(c) March 1940

(d) September 1940

Which of the following pairs is not correctly matched?
(a) Pitt's India Act - ‘Warren Hastings

(b) Doctrine of Lapse ----- Dalhousie
(c) Vernacular Press Act ----— Lord Curzon
(d) lbert Bill ~ ---- Lord Ripon

The largest part of the income of the Government of Uttar
Pradesh comes from

(a) from land revenue

(b) business tax

(c) registration fee

(d) from federal excise duty

'Knowledge Park' was established in Uttar Pradesh -
(a) in Sitapur

(b) in Ghaziabad

(c) in Kanpur

(d) Greater Noida

Uttar Pradesh Agricultural Research Council is located.
(a) Saharanpur

(b) in Bulandshahr

(c) in Lucknow

(d) Siddharth Nagar

In which district is the Potato Research Center located in Uttar
Pradesh?
(a) Agra
(c) Lucknow

(b) Meerut
(d) Prayagraj

Which factor is most effective in increasing agricultural
production in Uttar Pradesh?

(a) Increase in the use of improved varieties of seeds

(b) Development of agri-service centre

(c) Agricultural credit facility

(d) Kisan Credit Card Scheme

In the following statements consider Assertion (A) and Reason
®)

Assertion (A): Uttar Pradesh has the highest concentration of
population in India.

Reason (R) : It is also the most densely populated state of India.

Select the correct answer using the code given below.

Code :

(a) Both (A) and (R) are correct in their respective places and (R)
is the correct explanation of (A).

(b) Both (A) and (R) are correct in their respective places and
(R) is not the correct explanation of (A).

(c) (A) is correct, but (R) is wrong.

(d) (A) is wrong, but (R) is correct.

In which city the North Central Zone Cultural Center (NCZCC)
will organize Chaiti and Kajri centres?

(a) Mirzapur (Mirzapur)

(b) Chitrakoot

(c) Agra

(d) Varanasi

113.

114.

115.

116.

117.

118.

119.

120.

121.

122.

Mabharishi Valmiki Ashram is established in :
(a) Shravasti

(b) in Bidur

(c) in Naimisharanya

(d) none of the above

Charkula is the main folk dance of :
(a) Baghel block area

(b) Brij Bhoomi

(c) Purvanchal region

(d) none of the above

Atomic Energy Center is established in Uttar Pradesh :
(a) in Baghpat

(b) in Singrauli

(c) Narora

(d) Saharanpur

According to Census 2001, the district with the highest sex ratio
in Uttar Pradesh is :

(a) Azamgarh

(b) Deoria

(c) Pratapgarh

(d) Jaunpur

Every year a fair is held at the tomb of the famous Sufi saint Haji
Waris Ali Shah.

(a) Fatehpur Sikri

(b) In Kaliyar

(c) Dewa Sharif

(d) Garhmukteshwar

The folk dance 'Rahula' is associated with which one of the
following regions of U.P.?

(a) From the eastern region

(b) From the western region

(c) From Braj region

(d) From Bundelkhand region

In whose memory the Uttar Pradesh Government has started
"Sangeet Ratna Award", they are :

(a) Pandit Birju Maharaj

(b) Ustad Nisar Hussain Khan

(c) Ustad Bismillah Khan

(d) Pandit Ravi Shankar

In the production of which of the following crops, Uttar Pradesh
does not rank first in the country?

(a) Wheat (b) Sugarcane

(c) Barley (d) rice

Which state's tableau or Jhanki has won the first prize on the
occasion of the 74th Republic Day Parade?

(a) Uttarakhand

(b) Uttar Pradesh

(c) Madhya Pradesh

(d) Assam

Consider the following statements about 'Pradhan Mantri

Vishwakarma Kaushal Samman (PM-VIKAS)'-

1. Prime Minister Narendra Modi has
initiative.

2. This scheme will help to keep alive the age-old arts and
traditional crafts in India and improve the economic
condition of the artisans and craftsmen of the country.

Select the correct statements from the codes given below

Code:

(a) 1 only

(b) 2 only

(c) both 1 and 2

(d) neither 1 nor 2

announced this
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103.

104.

105.

106.

107.

108.

109.

110.

11.

112

fegea aiferee Rufscien qaifiger (HSRA) &t =iroT & g off?
(a) @ 1919
(b) @ 1927
(c) T 1916
(d) @ 1928

e &7 7 e UTfehEdT™ ol URdTd el TR fohar om?
(a) TRat 1922

(b) =R 1928

(c) =T 1940

(d) fRdsR 1940

ﬁmﬁ@awﬁ@ﬁmwﬂﬁgﬁ%ﬁﬁ?
(a) foeg Efear gae

(b) =awTd @ Rgia gaﬁreﬁ

(¢) FATRIER U9 Yo AlS hoi

(d) g foret s R

IR TSI TR hi 31T ohl T4 o187 WHT 9 31T &
(a) A I &

(b) AR &=

(€) USIeRRuT Yeeh

(d) g I ek

IR TR | 'FTetsT Uteh' hl RITUHT ch TS -
(a) HaTR &

(b) mfSramaTe &

(c) PR A

(d) Fex AgeT

IR U Y e uRee R 81
(a) HERAYR

(b) gefare &

(c) =& d

(d) g TR

ITR U H AT S dhes: fohd et A fR¥a 87
(a) SIRT

(b) &

(c) &S

(d) RIS

IR UL | Y IATEA FgT H hI--TT hReh Faifeh THTe 82
(a) 37 forert & it & IuavT A gfg

(b) Y a1 Fz @1 faewr

(c) P For gfaen

(d) fram= shfge s TisrT

fAmfofes st § e (A) 3R FROT (R) R faar &2
3fAHY (A) : YR H IR UM chY STLE Iag 31fdh g
RO (R): T8 YR bl a4 &+ 3TTETET aret Isg oft 81
12 g 7Y e 1 T AR "l IR [T

aﬁg.

(a) @AY (A) 3R (R) 31Ut Tefd T &R I8t & 3R (R) (A) &1 Tt
T B

(b) &Y (T) 3R (3MR) 3o Heifdrd =i & Wt § 3R (37R) () &1 gl
eieRT T8l 81
) (A) Tet &, Afh (R) Tera 81

((Amw%é%q ) Tet &l

forT ER & IR Ae @7 Aiwpfde dhg (NCZCC) At iR dordt &t
SITIYST T e ?

113.

114.

115.

116.

117.

118.

119.

120.

121.

122.

(a) fAsTigR ( fAsiigR) (b) Rege

(c) ST (d) TRToTHY

gy areifes smem wnfia @

(a) smaw (b) foge &

(c) AfuRTg # d) ST | ¥ s gl

TR TG AR 8 :

(a) o & b) g1 yfA

(c) gatad & d) SWiad & ¥ 1S el

TRATY] Ho1f g IR UG H w1fUd &:

(a) IFTad | (b) Rt &

(c) TR (d) HBRAR

SHIOMET 2001 & STER ITR UG # Haiteeh felmgurd arer e &:
(a) STTSTHITG (b) afar

(€) T (d) SHgR

Ui ! T gToh ATy 37eht Q18 &l TR UR & 9Tcl Hell AT 3 |
(a) BagqR e (b) PR &

¢) a1 W d) TegaER

rvﬁm g ' IR He2T & FffEa # 4 fr & @ daifda 87
ERcikiek:

(b) ufgyeft &= @

OESEEER

(d) oS &

fS1hY T # TR &N TR 7 "Hifid 3T REAR" URY fhar 8, 3
&

(a) dfed forsy HeR™

(b) I%IE FER g87 @

(c) I%TE fafSees @

(d) dfea fasieR

frfafEa 8 T fohg o & IdTeT & IR USRT ol <27 § Joy I
el 87
(@) Mg
(c) Sit

743 o fRag s & SR WR fhg 5w Y giiht an sty A uuw
REHR Sfar 82

(a) STREs

(b) TR WeaT

(c) Tem waT

(d) srem

'gyEA fyeat s gEe (dum-Rem) & TR § Rafafaa

HYA R AR -

1. gerE g A1t A 39 ugd it givon 6 gl

2. g ST YR # Giedl QR dhelt 3R arRuRes fRieq &t Sfifaa
TG 3R A & HRIRY SR fAuerl i snffe AT & gur &=
# Heg ol

12 g 7T e B 6t YT I T B

&is:

a) dhad 1
b) a2
c) 1 3R2eHf

(
(
(
(dy7at13fRag2
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123.

124.

125.

126.

127.

128.

129.

130.

131.

132.

When is World Wetlands Day celebrated?
(a) 1 February

(b) 22 February

(c) February 2

(d) 4 February

Where will the 5th Khelo India Youth Games be organized?
(a) Haryana

(b) Madhya Pradesh

(c) Uttar Pradesh

(d) Rajasthan

‘Where will the first nuclear plant of North India be set up?
(a) Punjab

(b) Uttar Pradesh

(c) Bihar

(d) Haryana

Consider the following statements regarding the 'Dadasaheb

Phalke International Film Festival Awards 2023'-

1. This time the 'Film of the Year' award has been given to
'RRR'.

2. This time the 'Best Actress' award has been given to Alia
Bhatt.

Select the correct statements from the codes given below

Code:

(a) 1 only

(b) 2 only

(c) both 1 and 2

(d) neither 1 nor 2

Where will the country's first semiconductor plant be set up?
(a) Ahmedabad, Gujarat

(b) Lucknow, Uttar Pradesh

(c) Bangalore, Karnataka

(d) Coimbatore, Tamil Nadu

‘Who won the Australian Open 2023 title?
(a) Medvedev

(b) Stefanos Tsitsipas

(c) Rafael Nadal

(d) Novak Djokovic

‘Who was honored with the Lifetime Achievement Honor by the
UK?

(a) Narendra Modi

(b) Dr. Manmohan Singh

(c) Shashi Tharoor

(d) Piyush Goyal

‘Which country appointed Manuela Roca Boti as the first female
Prime Minister?

(a) Ethiopia

(b) Nigeria

(c) Chad

(d) Equatorial Guinea

‘Which country will be invited as the main country for the Madrid
International Book Fair?

(a) India

(b) USA

(c) China

(d) France

Consider the following statements about 'IIRF MBA Ranking
2023'-

1. IIM Ahmedabad has got the first position in this ranking.

2. IIM Lucknow has secured the fourth rank in this ranking.
Select the correct statements from the codes given below

Code:

(a) 1 only

(b) 2 only

133.

134.

135.

136.

137.

138.

139.

140.

(c) both 1 and 2
(d) neither 1 nor 2

Where was the UP Global Investors Summit 2023 organized?
(a) Varanasi

(b) Lucknow

(c) Ayodhya

(d) Noida

'Operation Sadbhavna Fund' was allocated to which state/UT?
(a) Uttar Pradesh

(b) Ladakh

(c) Maharashtra

(d) Jammu and Kashmir

Consider the following statements about 'Joint Military Exercise
Dustlik 2023'-

1. This exercise is conducted between India and Uzbekistan.

2. It will be organized in Pithoragarh, Uttarakhand.

Select the correct statements from the codes given below

Code:

(@) 1 only

(b) 2 only

(c) both 1 and 2

(d) neither 1 nor 2

Which nation and the Indian Navy inked an MoU to expand their
cooperation in maritime security?

(a) Seychelles

(b) Thailand

(c) Indonasia

(d) Japan

According to the "Foundational Literacy and Numeracy Index
2022," which state performed best?

(a) Kerala

(b) West Bengal

(c) Tamil Nadu

(d) Andhra Pradesh

Which states' broad gauge lines have now all been electrified by
the Indian Railways?

(a) Maharashtra

(b) Karnataka

(c) Uttar Pradesh

(d) Tamil Nadu

Which Union Ministry oversees WAPCOS, a building services
and engineering firm?

(a) Ministry of Electronics and IT

(b) Ministry of External Affairs

(c) Ministry of Finance

(d) Ministry of Jal Shakti

Think about the following claims regarding "REAIM 2023":

1. It brings businesses and governments together to agree on
fundamental guidelines for the application of artificial
intelligence in armed conflict.

2. This effort for participants to share experiences and best
practices was recently launched by India and South Korea.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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123.

124.

125.

126.

127.

128.

129.

130.

131.

sy s ey o AARIT ST 8 ?
(a) 1 TRa
(b) 22 waH
(€) 2 Wat
(d) 4 wRas

53 @l Ef3ar gu T T SIS el fohdT SITETT?
(a) gfamom

(b) Tea uear

(c) SR U

(d) TSI

IR {Rd T TUH URHTY] T3 hgl ST fohar ST ?
(a) geTe

(b) SR T

(c) farR

(d) gRarom

' TR & duy § Eif@d syl R TR fifSe ke siaRiga
Ao Agica qREhR 2023

1. 39 IR 'fthed 31fth & SR’ T 37dls 'RRR' &l feam mam &.

2. 39 IR ' TRY' &I 3(diS ferar g ot Gz man .

2 oy 717 e T Gt hU=T I TFT B

C S

(a) haet 1

(b) haat 2

(c) 1 3R 2 &t

(d)yadat13iRag?2

321 T U SMeTereh GO chal SATTU fehdT STgar ?
(a) STgHCIdE, ToRId

(b) TGS, IR T

(c) SR, Fleh

(d) SroFEIg, Ty

ST sftur 2023 o1 f&ame foram sftar?
(a) Heaea

(b) W Rafiur

(c) Ihe TSTA

(d) areh Shieifaa

Toh GRT ASheTsH Srfiaiic g @ fond gwiea o mar?
(a) TRz A

(b) 7. gE &g

(c) <fr =R

(d) s et

AQAT ekt I i fohd 31 Y gt Afger nue w3 fAgad R
Tar?

(a) sf=foar
(b) ATshifar
(c) IT8

(d) gRaRae =

A3 SeRAT geoh R & oIy foher a1 et 7 33 & =0 # sfa
RIS

(a) ¥9Rd

(b) Ig&T

(c) 9=

(d) e

132.

133.

134.

135.

136.

137.

138.

139.

140.

'TIRF MBA &1 2023' & IR # fAfaf@d sl «R faar &e-

1. 59 3fFT 8 [IM SIgHeTETe 6l uge T e g
2. IIM o= 3 59 I & <iieft 36 grf@a Y &1

12 g 717 e 8 6t HYAT 1 T B
S
(a) Shaet 1
(b) Fa<t 2
(c) 1 3R 2 gt
(dyFat1sRag2
ToIee sa%ed Gffie 2023 T 3TaiSTH gl fohar 74t ?
(a) aRrort (b) TGS
(c) rgteat (d) iget
'ITIRIA FogTaTT W' fohg Tsa/dhg 2MfAd veer @t sdfea fmar mar

qT?
(a) STR U
(c) HRTE

(b) @IE™®
(d) 57 3R ek

TG T 9T axdfereh 2023' & IR H FAmfaf@d el R faer
HifSu-

1. T8 Y YR 3R Isafehwa™ & i smaifSa forar smar 81

2. ST SIS IWRIEs & ffRITe & fahar strem|

12 g 7T e @ TEt AT T T B

His:

(a) et 1 (b) et 2

(c) 18R 2 &Mt (d)Tat13RaE2

T gReT H 31U YguT ol fAdR et & foig fohy a7 ofR wRdR
ARG 7 Teh GHESH AT ST U g51eR fhu?

(a) QT (b) utSs

(GESEIREI (d) STu

"TRISSRAA folexdt Us ARl §3e 2022" & SigER fhe =g 7
o <ot vesl fomar?
(a) cheet

(c) dfArerTg

o Tl oY TS 7T TS+l et o TR 3o GRT Fregefiopa i R
T 8?

(a) HERTE
(c) ITRUSA

(b) uffy\ st
(d) 31ieT TreeT

(b) ehfeen
(d) I

PRI T el Tl WAPCOS, Tah fafed afifds ok Seftffafr
& Y 3G T &2
(a) eRIReT 3R Mt Harer ™

"REAIM 2023" & SR # fFm=fafed g@ R AR &

1. g8 OS WUy 7 HhHA gigaan & A & fag Hifee
fsnfAEe R geHd g1 & oY seamt 3R WRaRT & Ua g
GIGIN]

2. ufaiiat & srgva 3R Tatd gemsil el A1ST S ol Ig T
BIeT 1 H YRA 3R afaor spiRar gRT Y= fewar mar am

IR T 7T Al A & e w1/a w8787
(a) Fae 1 (b) Fat 2
(c) 18R 2 gt (d)yFar1aRag?2

LML JMARDHYAM 108

CALL: 0522-4623578
9911999187

www.maadhyamias.in
Lucknow Center - B-1/18, Sector-H, Puraniya Chauraha,
Near Mahalaxmi Sweets, Aliganj, Lucknow-06024 (U.P.)

Full-Length Test |18



141.

142.

143.

144.

145.

146.

147.

148.

149.

‘Who has earned the title of 80th Grandmaster in chess for India?
(a) Sayantan Das

(b) Vignesh NR

(c) Koustav Chatterjee

(d) Visakh NR

Think about the following claims in relation to "River Cities

Alliance (RCA)":

1. The RCA was established in 2021 as a venue specifically for
creating comprehensive action plans for urban rivers.

2. The RCA members will gather at DHARA 2023 for their
yearly meeting.

‘Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Medium-density Which substance was used to make the
amorphous ice that was reported on in the news?

(a) Stainless steel

(b) Plastic

(c) Aluminum

(d) Silver

Think about the following claims made about the "SSLV-D2

Rocket™:

1. SSLV caters to the launch of up to 500 kg satellites to Low
Earth Orbits on ‘launch-on-demand’ basis.

2. EOS-07 is a 156.3 kg satellite designed, developed, and
realized by ISRO.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

How many crores have been set aside for the "Vibrant Village
Programme," a project sponsored by the central government?

(a) 4500

(b) 4800

(c) 3800

(d) 5800

‘Which planet currently has the most moons as of 2023?
(a) Neptune

(b) Venus

(c) Saturn

(d) Jupiter

‘Which nation is hosting the 12th World Hindi Conference?
(a) Indonasia

(b) Thailand

(c) Bhutan

(d) Fiji

Consider these claims in relation to the India Semiconductor
Mission (ISM):

1. The India Semiconductor Mission (ISM) seeks to create a
global hub for electronics manufacturing and design.

2. The government has approved the Semicon India programme
to invest Rs 76,000 crore in the development of India's
semiconductor and display manufacturing ecosystem.

‘Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

The "National Green Fiscal Incentives Policy Framework" was
introduced in which nation?

150.

(a) Zimbabwe
(b) Nigeria

(c) South Africa
(d) Kenya

What is the theme of "Aero India 2023," the largest aero display
in Asia that PM Modi inaugurated?

(a) The Runway to Golden Opportunities

(b) The Runway to Billion Opportunities

(c) The Runway to Amrut Opportunities

(d) The Runway to Every Opportunities
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141.

142.

143.

144.

145.

146.

147.

148.

IR & forw st # 804 fisarex o1 fRdme foram aiffa forar &2
(a) IRaH S

(b) o2 NR

(c) ohiag Fesit

(d) fa=ma NR

"Rer fAE TIRIY (RCA)" & Fa¢ § Afafea e «R R &

1. RCA & -u=T 2021 ¥ g s} & g aamues & aisrn
T & fow Aty =0 3 o = & 9 7 Y 7 oY

2. RCA TeH 31U+t a1fties doeh & foig &RT 2023 § Uarf3a g7l

IR T U syl H T i 91/9 gl 8/87

(a) Shaet 1

(b) Taa 2

(c) 1 3k 2 @t

(dysTat1aiRaE2

TeIH-g fohg ugref ot IUGHT SFThR ot s o forg fovar mam an
STt garERY § Sqra T ar?

(a) T EeT

(b) wTfees

(c) T

(d) =iy

"SSLV-D; ehe" & TR # fohy 1 R=feifed arat & an & gie:

1. SSLV'DOD' & 3MYR WR Gl i f=rett shamafi #

foReTiIT qeh o IUUET o UETT St GRT ST g

2. EOS-07 Uah 156.3 fohellum ol 3uUE & 99 3o} g1 f3wime,
T ofk Ffifa fomam mam &1

IR T MU pyl H T = 91/9 Il 8/

(a) Faet 1

(b) haret 2

(c) 1 3R 2 gt

(dyssat1eiRag2

500

e WHR gRT IS aRais T "argsie s mum " & o foham
IS FUY ST TG T § ?

(a) 4500

(b) 4800

(c) 3800

(d) 5800

gaa § 2023 Ja fohg Us & ga S1fdes dgaT 87
(a) =g

(b) Tsm

(c) o

(d) geeafa

129 fagy B gme i AT ohiH-T7 3T R IBT 8 ?
(a) g=Hfmar
(b) urSds

(c) e
(d) Rrsht

fEar Qrfichgaex MM (ISM) & ey & 3 gl wR foaR &R

1. ¥R SHichedex A (ISM) segiad fAafor ofik fEomea &
forg wer affyer dhe aT TR 1

2. WHR 7 9Rd & GHichsaex 3R oot Agthaali gaifieed &
oo 7 76,000 s 3ud & fRawr & fog dftent Sfzar oum
AR & 21

IR Ry U et A § i 91/ g8t 8/8?

149.

150.

(a) Shaet 1

(b) Fae 2

() 1 3R 2 gt
(dyTat13Rag2

" P feenet $afeey diferdt thaads” foha 1 # == fowar man
o

a) fSam=a
b) Argsiifear
¢) <fgor anhtenr
d) =1

"qRY 3fEar 2023" o1 fawa an B, Trar & ged 921 TRl feea e

e At 3 Igre fhar?
(a) T3 g Mes SfAdsT
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